O 758k NE|AE =2 S
T2 Y e
=4 sHgs HE 71| T tEdda | HE 71 el X7t dat
1 +A0[25 % (pH) - - 8.8 - - 6.8
2 | M=t At SEF (BOD) - mg/X 10,324.6 30 O35} mg/% 32
3 % J7|EtA (TOCQ) - mg/X 11,769.8 55 0|3} mg/% 15.6
4 BEo2F (S9) - mg/! 9,920.0 30 O[3} mg/2 2.7
5 = AL (T-N) - mg/2 3,998.467 60 0|5t mg/2 14.411
6 % 21 (T-P) - mg/X 377.675 8 0|5} mg/% 0.120
7 B AR - 7H/L 164,667 3000 O[St ZH/L 16

O 2k MEAE X2 HE

T2 Y e
=H sdg= HE 71E| T 7rEsdEn [(HE 2IE] B X2tEd da
1 F20[25 % (pH) - - 79 - - 6.93
2 | A=t M4 Q48 (BOD) - mg/! 3,740.6 30 0|8t mg/2 2.2
3 & {7|EtA (TOCQ) - mg/X 4,370.0 30 0|3t mg/¢ 10.7
4 E22H (S9) - mg/t 6,025.0 30 0|3} mg/2 13
5 = A (T-N) - mg/! 1,817.700 60 0|3} mg/2 8.934
6 = 0l (T-P) - mg/2 181.946 8 0|5} mg/2 0.121
7 SUHE = - =/m@ 48,000 3000 O[3t ==/me 33

o
TE Y gET
= ] HE 718 T i=sddn |98 718 ol CHa =7 2ot
1 +20|28% (pH) - 7.4 5.8~8.0 - 7.7
2 | ME3et LAQ 2 (BOD) - mg/% 35.9 30 O3} mg/X 2.8
3 otstA At R LEHCOD) - mg/% 4164 200 O[3t | mg/t 80.5
4 BEoEF (S9) - mg/! 39.2 30 0|3t mg/4 0.6
5 = EHA (T-N) - mg/2 252.300 100 O[3} | mg/t 74.800
6 Z 2 (T-P) - mg/t 1.649 4 0|5} mg/2 0.106
7 ST - 2=/me 200 100 O[S} | ==/me 2
O &718 s M2A|E s=X2| g
TE Y gEr
= ] HE 718 T isdEdn |88 718 ol CHE =7 20t
1 F20|2F% (pH) - . 7.2 5.8~8.0 - 7.8
2 | MEEH LA e (BOD) - mg/% 342.3 30 O3} mg/X 48.6
3 tetA it 2 L 2HCOD) - mg/% 19.2 200 O[3t | mg/t 2.1
4 H23=E (S9) - mg/% 9.4 30 O3} mg/X 03
5 = 2 (T-N) - 2=/ml 195.000 100 O[3t | ==/me 64.800
6 % ol (T-P) - mg/! 0.521 4 0|3} mg/% 0.063
7 SOy AT - mg/% 250 100 O[Sk |  mg/t 5




